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1) Which country or Countries veto UN’s Syria resolution in 
Feb.2012? 

பி�ரவ� 2012� எ
த நா� அ�ல� நா�க� ஐ.நா. வி� சி�யா 
த��மான ைத எதி� � வா"களி த� /வா"களி தன? 
   I. Russia          II. France          III.China 

a) I & II   b) III only   c)  I & III   d)  All 

2) Which is called anti viral protein? 
a) interferon   b) aminaferon 
c) MMR vaccine  d) nitroglycerine 
±Ð ¨ÅÃ…¢ý ±¾¢÷ ÒÃ¾õ ±ýÚ «¨Æì¸ôÀÎ¸¢ÈÐ? 

a) þý¼÷¦ÀÃ¡ý  b) «Á¢§É¡¦ÀÃ¡ý 

c) ¾Îôâº¢   d) ¨¿ð§Ã¡ ¸¢Ç¢º¡¢ý 

3) Amphibians of Plant Kingdom are 
a) Thallophytes  b) Bryophytes 
c) Angiosperm  d) Pteridophytes 
தாவர உலகி� இ+வா,விக� 

a) தாேலாைப.�க�  b) பிைரேயாைப.�க� 

c) ஆ0சிேயா1ெப�3        d) ெட�ேடாைப.�க� 

4) ‘Flame of the forest’ is 
a) Lupinus    b) Butea frondosa 
c) Clitoria    d) Crotolaria 
‘கா.� த�’ எ�றைழ"க�ப�வ� 

a) 9�பின1  b) �:;யா ஃ�ரா=ேடாஸா 
c) கிளி.ேடா�யா         d) ?ேரா.டேல�யா 

5) Which committee recommended Equitable standard 
School Education 
a) Dr. Muthukumaran  b) Prof. Yashpal 
c) Porka   d) Ananda Krishnan 
ºÁîº£÷ ¸øÅ¢¨Â ±ó¾ ¸Á¢ðÊ À¡¢óÐ¨Ã ¦ºö¾Ð? 
a) ¼¡ì¼÷ ÓòÐìÌÁÃý b) §ÀÃ¡º¢¡¢Â÷ Â¡‰À¡ø 
c) ¦À¡ü§¸¡  d) ¬Éó¾ ¸¢Õ‰½ý 

6) Which one of the following is correct? 
¸£úì¸ñ¼ÅüÚû ±Ð º¡¢? 

a) 2014 Youth Olympics – China 
b) 2014 Winter Olympics – Scotland 
c) 2016 Summer Olympics – Russia 
d) 2014 Commonwealth Games - Brazil 

7) 
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d) þ¨Å ±Ð×õ þø¨Ä/none of these 

8) Which of the following is incorrect 
¸£úì¸ñ¼ÅüÚû ±Ð ¾ÅÈ¡ÉÐ? 

a) BRIC – Brazil, Russia, India, China 
b) IBSA – India, Brazil, South Africa, Argentina 
c) G4 for UNSC – Brazil, Germany, India, Japan 
d) BASIC-G4 - Brazil, South Africa, India, China 

9) The non metal which is in liquid state at room 
temperature 
a) chlorine b) bromine c) mercury d) iodine 
«¨ÈÂ¢ý ¦ÅôÀ¿¢¨ÄÂ¢ø ¿£÷ÁÁ¡¸ì ¸¡½ôÀÎõ 
«§Ä¡¸õ 

a) Ì§Ç¡¡¢ý b) Ò§Ã¡Á¢ý c) ¦Á÷ìÌ¡¢   d) «§Â¡Êý 

10) Which of the following is latest biosphere reserves in 
India 
a) cold desert  b) kachch 
c) achanakmar-amarkantak d) seshachalam hills 
¸£úì¸ñ¼ ±Ð þó¾¢Â¡Å¢ý Ò¾¢Â ¨À§Â¡ŠÀ¢Â÷ 
¨ÁÂõ? 

a) ÌÇ¢÷ À¡¨ÄÅÉõ      b) ¸ðî 

c) «îº¢É¡ìÁ÷ - «Á÷¸ñ¼ì  d) §º„¡ºÄõ ÌýÚ¸û 

11) As per the 2011 census, which of the following states is 
the second most sex ratio state in India? 
a) Kerala   b) Tamilnadu  
c) Andhra Pradesh  d) Chhattisgarh 
2011 Áì¸û ¦¾¡¨¸ ¸½ì¦¸ÎôÒ ÀÊ, ¸£úì¸ñ¼ 
±ó¾ þó¾¢Â Á¡¿¢Ä À¡Ä¢É Å¢¸¢¾ò¾¢ø þÃñ¼¡õ 
þ¼ò¾¢ø LûÇÐ? 

a) §¸ÃÇ¡   b) ¾Á¢ú¿¡Î 

c) ¬ó¾¢ÃôÀ¢Ã§¾ºõ  d) ºò¾£Š¸÷ 

12) Which of the following is composite fruits? 
a) tomato b) paddy c) apple  d) fig 
¸£úì¸ñ¼ ±Ð ÜðÎì¸É¢? 

a) ¾ì¸¡Ç¢ b) ¦¿ø  c) ¬ôÀ¢û d) «ò¾¢ 

13) Which of the following pairs is correctly matched? 
Sanctuary   District 
a) melsevvanur  - Ramanadhapuram 
b) vettangudi  - Ramanathapuram 
c) Udhayamarthandam - Nagapattinam 
d) Vaduvur   - Thiruvarur 
¸£úì¸ñ¼ ±ó¾ þ¨½ º¡¢Â¡ÉÐ? 
ÀÈ¨Å¸û ºÃ½¡ÄÂõ  Á¡Åð¼õ 
a) §Áø¦ºùÅë÷   - þÃ¡Á¿¡¾ÒÃõ 
b) §Åð¼íÌÊ   - þÃ¡Á¿¡¾ÒÃõ 
c) L¾ÂÁ¡÷ò¾¡ñ¼õ  - ¿¡¸ôÀðÊÉõ 
d) ÅÎç÷    - ¾¢ÕÅ¡å÷ 

14) BRICS summit 2012 held at 
2012� ��"1 உ@சி மாநா� எA? நைடெபBற�?  
a) Moscow  b) Beijing  c) Johannesburg  d) New Delhi 

15) 1) continental crust is called SIMA. 
2) oceanic crust is called SIAL. 
Choose correct 
a) 1 is correct  b) 2 is correct 
c) 1&2 is correct  d) Both are wrong 
1) ¸ñ¼ §Á§Ä¡Î º¢Á¡ ±ýÚ «¨Æì¸ôÀÎ¸¢ÈÐ. 
2) ¦ÀÕí¸¼ø §Á§Ä¡Î º¢Â¡ø ±ýÚ 
«¨Æì¸ôÀÎ¸¢ÈÐ. 
º¡¢Â¡É¨Å 

a) 1 ÁðÎõ   b) 2 ÁðÎõ 

c) 1&2 º¡¢   d) þÃñÎõ ¾ÅÚ 

16) Which of the following is a warm winds? 
a) mistral  b) boro  c) purge  d) santa ana 
¸£úì¸ñ¼ ±Ð ¦ÅôÀì¸¡üÚ? 

a) Á¢ŠðÃø  b) §À¡§Ã¡ c) Ò÷¸¡   d) ºó¾¡ «¨Ã 

17) Atomic number and mass number of sodium are 11 and 
23 respectively number of neutrons in sodium is 
§º¡ÊÂò¾¢ý «Ï ±ñ ÁüÚõ «Ï ¿¢¨È Ó¨È§Â 
11 ÁüÚõ 23 ¬Ìõ. «¾¢ÖûÇ ¿¢ÔðÃ¡ý¸Ç¢ý 
±ñ½¢ì¨¸ 

a) 11 b) 12  c) 23  d) 34 
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18) Agulhas current flows in 
a) North west Indian ocean b) North east Indian ocean 
c) South west Indian ocean d) South east Indian ocean 
«ÌøÂ¡Š ¿£§Ã¡ð¼õ ±íÌ ¦ºø¸¢ÈÐ? 
a) Å¼§ÁüÌ þó¾¢Â ¦ÀÕí¸¼ø 
b) Å¼¸¢ÆìÌ þó¾¢Â ¦ÀÕí¸¼ø 
c) ¦¾ý§ÁüÌ þó¾¢Â ¦ÀÕí¸¼ø 
d) ¦¾ý ¸¢ÆìÌ þó¾¢Â ¦ÀÕí¸¼ø 

19) Match the following 
a) siachin   1) Himachal Pradesh 
b) Shipkila pass 2) Karakoram Range 
c) Blue mountain 3) Satbura 
d) Dhupgarh 4) Mizo hills 
¦À¡ÕòÐ¸ 
a) º¢Â¡º¢ý            1) þÁ¡îºÄ À¢Ã§¾ºõ 
b) º¢ô¸¢Ä ¸½Å¡ö           2) ¸¡Ã§¸¡Ãõ Á¨Äò¦¾¡¼÷ 
c) ÒÙ ¦Áªñð¨¼Â¢ý  3) º¡òÒÃ¡ 
d) àô¸¡÷            4) Á¢§º¡ ÌýÚ¸û 

Codes: 
A) a-4, b-3, c-1, d-2  B) a-4, b-3, c-2, d-1 
C) a-1, b-2, c-3, d-4  D) a-2, b-1, c-4, d-3 

20) Diarchy of government was proposed by the act of 
a) 1909 – Minto Marly Reforms 
b) 1919 – Monteague Chelmsford reforms 
c) 1935 – Indian Government act – 1935 
d) 1947 – Indian Independent act – 1947 
Á¡¸¡½í¸Ç¢ø þÃð¨¼ ¬ðº¢ Ó¨È ±ó¾ ºð¼ò¾¢ý 
ãÄõ ¦ºÂøÀÎò¾ôÀð¼Ð? 
a) 1909õ ¬ñÊý Á¢ñ§¼¡-Á¡÷Ä¢ ºð¼õ 
b) 1919õ ¬ñÊý Á¡ñ§¼Ì ¦ºõŠ§À¡÷Î ºð¼õ 
c) 1935 - þó¾¢Â «ÃÍî ºð¼õ 
d) 1947 - þó¾¢Â Í¾ó¾¢Ã ºð¼õ 

21) Who is was known as ‘Mudi Soodum Perumal’ 
a) Jadavarman Kulasekara – I 
b) Jadavarman Sundhara Pandiya –II 
c) Sri Vaikunda Swamikal 
d) Narayana Guru 
ÓÊÝÎõ ¦ÀÕÁ¡û ±ÉôÀð¼Å÷ 
a) ƒ¼¡Å÷Áý ÌÄ§º¸Ãý - I 
b) ƒ¼¡Å÷Áý Íó¾Ã À¡ñÊÂý 
c) ‚¨ÅÌñ¼ ÍÅ¡Á¢¸û 
d) ¿¡Ã¡Â½ ÌÕ 

22) The unit of thrust is 
a) Newton  b) Joule  c) kgm

-3
 d) Pascal 

þÚìÌ Å¢¨ºÂ¢ý «ÄÌ 

a) ¿¢äð¼ý b) ƒ£ø  c) ¸¢¸¢Á£-3 d) À¡Š¸ø 

23) Plimsoll lines are marked on the sides of 
a) buses b) aeroplanes c) trains  d) ships 
À¢Ä¢õº¡ø §¸¡Î¸û þ¾ý Àì¸Å¡ðÊø ÌÈ¢ì¸ôÀðÎ 
þÕìÌõ. 
a) §ÀÕóÐ¸û  b) ¬¸¡Â Å¢Á¡Éí¸û 

c) ¦¾¡¼÷ ÅñÊ¸û d) ¸ôÀø¸û 

24) Boiling point of nitrogen is 
¨¿ðÃƒÉ¢ý ¦¸¡¾¢¿¢¨Ä 

a) -186
0
C b) -183

0
C c) -32

0
C d) -196

0
C 

25) A poisonous gas 
a) carbon monoxide  b) sulphur dioxide 
c) nitrogen   d) oxygen 
Å¢„ò¾ý¨Á Å¡öó¾ Å¡Ô 

a) ¸¡÷Àý §Á¡É¡ì¨ºÎ b) ºøÀ÷ ¨¼ ¬ì¨ºÎ 

c) ¨¿ðÃƒý  d) ¬ìº¢ƒý 
 

26) Rusting of iron is 
a) displacement  b) reduction 
c) oxidation   d) dehydration 
þÕõÒ ÐÕôÀ¢Êò¾ø ±ýÀÐ 

a) þ¼ô¦ÀÂ÷îº¢  b) ´Îì¸õ 

c) ¬ìº¢ƒ§ÉüÈõ  d) ¿£÷ ¿£ì¸õ 

27) Mass of a neutron is 
¿¢ÔðÃ¡É¢ý ¿¢¨È 

a) 1.00727 amu  b) 1.00867 amu 
c) 0.00054 amu  d) 10.0867 amu 

28) Dry ice is 
a) solid CO2   b) gaseous CO2 
c) CO2 dissolved in water d) solid NO2 
LÄ÷ ÀÉ¢ì¸ðÊ ±Ð 

a) ¾¢ñÁ CO2  b) Å¡Ô ¿¢¨ÄÂ¢ÖûÇ CO2 
c) ¿£¡¢ø ¸¨Ãó¾ CO2 d) solid NO2 

29) The centre of gravity of a solid cone lies on its axis at a 
distance of_____from its base, where A is its vertical 
height. 
ÜõÒ ´ýÈ¢ý «ÊôÀÌ¾¢Â¢Ä¢ÕóÐ, «¾ý «îÍì 
§¸¡ðÊø........¦¾¡¨ÄÅ¢ø «¾ý ®÷ôÒ ¨ÁÂõ 
«¨ÁÔõ. 
a) 3h/4 b) h/2  c) h/4  d) h 

30) An example for second order levers is 
a) a pair of sassors  b) wheel barrow 
c) see saw   d) forces 
þÃñ¼¡õ Å¨¸ ¦¿õÒ §¸¡ÖìÌ µ÷ ±ÎòÐì¸¡ðÎ 

a) ¸ò¾¡¢ì§¸¡ø 

b) ´ü¨Èî ºì¸Ã ¾ûÙÅñÊ 

c) º£º¡ôÀÄ¨¸ 

d) º¡ÁÉõ 

31) Which State Government has banned the use of mobile 

phones by officials inside offices during work hours. 

சமீப தி� எ
த மாநில3 அKவலக ேநரAகளி� 
அKவல�க� ெச�ேபா� ேபச தைட விதி ��ள�? 

a) Gujarat  b) Goa  c) Haryana  d) Kerala 
32) In a prism, the angle between the incident ray and the 

emergent ray is called 
a) angle of incidence b) angle of refraction 
c) angle of deviation  d) angle of prison 
ÓôÀð¼¸õ ´ýÈ¢ý ÀÎ¸¾¢ÕìÌõ Å¢ÄÌ ¸¾¢ÕìÌõ 
þ¨¼§Â LûÇ §¸¡½õ.........±ÉôÀÎõ. 
a) ÀÎ§¸¡½õ   
b) Å¢ÄÌ §¸¡½õ 

c) ¾¢¨ºÁ¡üÈì §¸¡½õ  
d) ÓôÀð¼¸ò¾¢ý §¸¡½õ 

33) Electromagnetic induction was discovered by 
a) Michael Faradey  b) Oersted 
c) Ampere   d) Fleming 
Á¢ý¸¡ó¾ò àñ¼¨Äì ¸ñ¼È¢ó¾¡÷ 

a) ¨Áì§¸ø ·À¡Ã§¼ b) ¬÷Š¦¼ð 

c) ¬õÀ¢Â÷   d) ·À¢¦ÇõÁ¢í 

34) The motion of a bullet fixed from a rifle is 
a) rotational motion  b) circular motion 
c) vibrational motion  d) rectilinear motion 
´Õ ÐôÀ¡ì¸¢Â¢Ä¢ÕóÐ ¦ÅÇ¢ÅÕõ ÌñÊý þÂì¸õ 

a) ÍÆüº¢ þÂì¸õ   b) Åð¼ þÂì¸õ 

c) «¨Ä þÂì¸õ  d) §¿÷§¸¡ðÎ þÂì¸õ 
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35) ேதசிய ஊரக ேவைலவாY�Z உ[தியளி"?3 ச.ட3 100 
நா.க� ேவைல ெகா��பதBகாக………...3 ஆ=� 
அறி^க�ப� த�ப.ட� / The National Rural 

Employment Guaranteed Programme came into force 
provide 100 days of employment in 

A) 2003 B) 2004  C) 2006  D) 2002 

36) Ruhr region of Germany is famous for 
a) Solar b) Natural Gas c) Coal d) Petroleum 
¦ƒ÷ÁÉ¢Â¢ý å÷ ÀÌ¾¢ þ¾üÌ ¦ÀÂ÷ §À¡ÉÐ 

a) Ý¡¢Â ºì¾¢  b) þÂü¨¸ ±¡¢Å¡Ô 
c) ¿¢Äì¸¡¢   d) ¦Àð§Ã¡Ä¢Âõ 

37) An aeroplane takes off from 80
0
 N latitude, 50

0
 E 

longitude and lands at the opposite end of the earth. 
Where does it land / xU thD}h;jp 80

0
 N ml;rnuif/ 

50
0
 E jPh;f;fnuifapy; nkbyGk;g[fpwJ kw;Wk; g{kpapd; 

kWKidapy; jiuapw';FfpwJ vdpy; v';nf 
jiuapw';Fk; >  
a) 80

0
 N Lat.,/ ml;rk; 50

0
 W Long/jPh;;f;fk;  

b) 50
0
 S Lat., / ml;rk; 50

0
 W Long/jPh;;f;fk;  

c) 50
0
 N Lat., / ml;rk; 130

0
 W Long/jPh;;f;fk      

d) 80
0
 S Lat., / ml;rk; 130

0
 W Long/jPh;;f;fk; 

38) Assertion (A): The atmosphere acts like a glass house 
for the earth. 
Reason (R): The atmosphere absorbs the longwave 
radiation coming from the sun. 
ÜüÚ (A): âÁ¢Â¢ý ÅÇ¢Áñ¼Äõ ¸ñ½¡Ê Å£Î 
§À¡Ä ¦ºÂøÀÎ¸¢ÈÐ. 
¸¡Ã½õ (R): ÅÇ¢Áñ¼Äõ Ý¡¢ÂÉ¢Ä¢ÕóÐ ÅÕõ 
Á£Ç¨Ä ¸¾¢÷Å£î¨º ¸¢Ã¸¢ì¸¢ÈÐ. 
a) Both A and R are true and R is the correct 

explanation of A/(A) ÁüÚõ (R) º¡¢, (R) ±ýÀÐ 
(A)ý º¡¢Â¡É Å¢Çì¸õ  

b) Both A and R are true but R is not the correct 
explanation of A/(A) ÁüÚõ (R) º¡¢, (R) ±ýÀÐ 
(A)ý º¡¢Â¡É Å¢Çì¸õ «øÄ 

c) A is true but R is false./ (A) º¡¢ ¬É¡ø (R) ¾ÅÚ 
d) A is false but R is true./ (A) ¾ÅÚ ¬É¡ø (R) º¡¢ 

39) 2012 ஆசிய ேகா�ைபைய(கி�"ெக.) ெவ�ற� 

Who won 2012 Asia Cup Cricket? 
a) India   b) Bangaladesh  c) Pakistan  d) Sri Lanka 

40) Gagan Narang is associated with which sports 
a) shooting b) Tennis c) Cricket      d) Swimming 
¸¸ý ¿Ãí ±ó¾ Å¢¨ÇÂ¡ðÎ¼ý ¦¾¡¼÷Ò¨¼ÂÅ÷ 
a) ÐôÀ¡ì¸¢ÍÎ¾ø  b) ¦¼ýÉ¢Š 
c) ¸¢¡¢ì¦¸ð  d) ¿£îºø 

41) At present how many companies got Maharatna status? 

தBேபா� எ தைன நி[வனAக� “மகார னா” எ�ற 
அ
த1ைத ெபB[�ளன? 
a) 4  b) 5  c) 6  d) 7 

42) Find the value of .....1 32
+−+− xxx  

.....1 32
+−+− xxx Á¾¢ôÒ ¸¡ñ¸  Where |x| < 1 

a) 
x+1

1
 b) 

x−1

1
 c) 1+x  d) 1-x 

43) Which committee recommended Lok pal/Lok Ayukta 
a) Rajamannar Committee 
b) Administrative Reforms Committee 
c) SINGVI committee d) None of the above 
±ìÌØ §Ä¡ìÀ¡ø/§Ä¡ì ¬Ôì¾¡¨Å À¡¢óÐ¨Ãò¾Ð? 
a) þÃ¡ƒÁýÉ¡÷ ÌØ    b) ¿¢÷Å¡¸ º£÷¾¢Õò¾ì ÌØ 
c) º¢íÅ¢ ÌØ                d) §Áü¸ñ¼ ±Ð×Á¢ø¨Ä 

44) Shah commission is related to 
a) centre state relations 
b) study excesses committed during emergency in 1975 
to 1977 
c) Working of Panchayat Raj Institutions 
d) Study the working of Indian Constitution. 
„¡ ¸Á¢ºý ±¾Û¼ý ¦¾¡¼÷Ò¨¼ÂÐ 
a) Áò¾¢Â-Á¡¿¢Ä LÈ×¸¨Ç ¬Ã¡Â 
b) 1975 to 1977 ¦¿Õì¸ÊÂ¢ý §À¡Ð 

«òÐÁ£Èø¸¨Ç ¬Ã¡Â 
c) Àïº¡ÂòÐ Ã¡ˆ «¨ÁôÒ¸û ¦ºÂøÀÎÅÐ 
d) «Ãº¢ÂÄ¨ÁôÒ ¦ºÂøÀÎÅÐ ÀüÈ¢ ¬Ã¡Â 

45) DMK, AIADMK started respectively / ¾¢Ó¸, «¾¢Ó¸ 
§¾¡üÚÅ¢ì¸ôÀð¼ ¬ñÎ Ó¨È§Â 

a) 1944, 1972  b) 1949, 1972 
c) 1949, 1977  d) 1944, 1977 

46) Which article provides for ‘Equal pay for Equal work’ 
±ó¾ „ÃòÐ ºÁ§Å¨ÄìÌ ºÁ °¾¢Âõ ÀüÈ¢ ÜÚ¸¢ÈÐ 

a) 38 b) 39  c) 41  d) 42 

47) Red Corridor 
a) is the area rich in Iron ore 
b) Kerala, West Bengal where communist party 

dominates 
c) is where Red-tapism is high 
d) Naxal infested states 
º¢¸ôÒ À¢Ã§¾ºõ ±ÉôÀÎõ ÀÌ¾¢ 
a) þÕõÒò ¾¡Ð «¾¢¸õ ¸¢¨¼ìÌÁ¢¼õ 
b) §¸ÃÇ¡, §ÁüÌ Åí¸õ - þíÌ ¸õäÉ¢Šð ¸ðº¢Â¢ý 

«¾¢¸ ¦ºøÅ¡ì¸¡ø 
c) 'º¢¸ôÒ ¿¡¼¡' «¾¢¸Á¡¸ LûÇ ÀÌ¾¢¸û 
d) ¿ìºø À¡¾¢ôÀ¢üÌðÀð¼ ÀÌ¾¢¸û 

48) Find out the incorrect statement 
a) Chairman of Rajya Sabha is elected from amongst 

its members/Á¡¿¢Äí¸Ç¨Å ¾¨ÄÅ÷ 
«ùÅ¨ÅÂ¢ý LÚôÀ¢É÷¸Ç¡ø ¾í¸ÙìÌû 
§¾÷ó¦¾Îì¸ôÀÎ¸¢È¡÷ 

b) Speaker of Lok Sabha is elected from amongst its 
members /Áì¸Ç¨ÅÂ¢ý ºÀ¡¿¡Â¸÷ «ùÅ¨ÅÂ¢ý 
LÚôÀ¢É÷¸Ç¡ø ¾í¸ÙìÌû 
§¾÷ó¦¾Îì¸ôÀÎ¸¢È¡÷ 

c) Speaker of Lok Sabha decides whether a bill is 
money bill or not/ ºÀ¡¿¡Â¸÷ ´Õ Á§º¡¾¡ À½ 
Á§º¡¾¡Å¡ þø¨ÄÂ¡ ±É ¾£÷Á¡É¢ì¸¢È¡÷ 

d) Speaker does not vacate his office when lok sabha 
is dissolved/Áì¸Ç¨Å ¸¨Äì¸ôÀð¼ À¢ýÉÕõ 
ºÀ¡¿¡Â¸÷ ¾õ À¾Å¢Â¢ø ¦¾¡¼÷óÐ þÕôÀ¡÷ 

49) ¿¡ÄÊÂ¡¡¢ý §ÅÚ ¦ÀÂ÷ 

a) Lò¾¢Ã §Å¾õ  b) ¾Á¢ú §Å¾õ 
c) §ÅÇ¡ñ §Å¾õ  d) ¾¢Ã¡Å¢¼ §Å¾õ 

50) The speeds of three cars are in the ratio 1.5 : 2 : 3. The 
ratio between the times taken by these cars to travel 
the same distance is: / ãýÚ ¸¡÷¸Ç¢ý §Å¸í¸û 
Ó¨È§Â 1.5 : 2 : 3 ±ýÈ  Å¢¸¢¾ò¾¢ø LûÇÉ. ãýÚ 
¸¡÷¸û ´Õ ÌÈ¢ôÀ¢ð¼  ºÁÁ¡É àÃò¨¾ ¸¼ì¸ 
±ÎòÐì ¦¸¡ûÙõ ¸¡Äò¾¢ý Å¢¸¢¾õ. 
a) 2:3:4 b) 4:3:2 c) 4:3:6    d) 6:4:3 

51) Bonded Labour system abolition act was passed in 
¦¸¡ò¾Ê¨Á Ó¨È ´Æ¢ôÒî ºð¼õ ¿¢¨È§ÅüÈôÀð¼ 
¬ñÎ 

a) 1961 b) 1976  c) 1986  d) 1970 
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52) Who headed the committe on Air India – Indian Airlines 
merge 
a) Ravindra H.Dholakia  b) Dharmadhikari 
c) Sri Krishna   d) Yeshpal 

ஏ� இ
தியா – இ
திய� ஏ�ைல�1 இைண�Z 
ச3ப
தமான ?eவிB? தைலைம தாAகியவ� 
a) ரவ �
திரா H.ெதாலா"கியா b) த�மதிகா� 
c) fகி+gணா   d) யாgப� 

53) Match the following: /¦À¡ÕòÐ¸. 
A) Malhotra committee   1) Petroleum 
B) Sunderrajan committee    2) Population below  

       poverty line    
C) Suresh Tendulkar    3) Insurance Sector 

committee  
D) Janakiraman committee  4) Security transactions in  

      Banking sector 
A) Áø§†¡òÃ¡ ÌØ   1) ¦Àð§Ã¡Ä¢Âõ 
B) Íó¾÷Ã¡ƒý ÌØ               2) ÅÚ¨Áì§¸¡ðÎìÌ  

  ¸£ú LûÇ Áì¸û ¦¾¡¨¸ 
C) Í§Ã‰ ¦¼ñÎø¸÷ ÌØ  3) ¸¡ôÀ£ðÎò Ð¨È 
D) ƒ¡É¸¢Ã¡Áý ÌØ    4) Åí¸¢ò Ð¨ÈÂ¢ø  

    À¡¢Å÷ò¾¨É À¡Ð¸¡ôÒ 
Codes: 
a) A-4, B-3, C-2, D-1 b) A-2, B-1, C-4, D-3 
c) A-1, B-2, C-3, D-4 d) A-3, B-1, C-2, D-4 

54) Consider the following statements / கீ,"க=ட 
வா"கியAகைள கவனி:   
Assertion (A) : Disguised unemployment is generally 
found in Indian Agricultural sector 
Reason (R) : More and more people in rural areas are 
becoming literate  
க+ � (A) : மைற^க ேவைலயி�ைம ெப+3பாK3 
விவசாய �ைறயி� காண�ப�கிற� 
காரண3 (R) : கிராம�Zற ம"க� ேமK3 ேமK3 
க�வியறிl ெபB[ வ+கிறா�க� 
a) Both (A) and (R) are true and (R) is the correct 

explanation of (A) / (A) மB[3 (R) இர=�3 ச�; (R) 

எ�ப� (A) விB? ச�யான விள"க3 

b) Both (A) and (R) are true and (R) is not the correct 
explanation of (A) / (A) மB[3 (R) இர=�3 ச�; (R) 

எ�ப� (A) விB? ச�யான விள"க3 அ�ல 

c) (A) is true but (R) is false / (A) ச�; ஆனா� (R) தவ[ 

d) (A) is false but (R) is true / (A) தவ[; ஆனா� (R) ச� 

55) Jaisamand lake locates in 
a) Andhra Pradesh  b) Manipur 
c) Meghalaya  d) Rajasthan 
¦ƒöº¡Áóò ²¡¢ ±íÌ LûÇÐ? 

a) ¬ó¾¢ÃÀ¢Ã§¾ºõ  b) Á½¢ôâ÷ 

c) §Á¸¡ÄÂ¡  d) þÃ¡ƒŠ¾¡ý 

56) Which of the following pair is wrongly matched? 
a) Hospet – Iron ore mine in Karnataka 
b) Gumla – Bauxite mine in Jharkhand 
c) BALCO – Chchatisgarh 
d) Vijinjam – Karnataka 
¸£úì¸ñ¼ ±ó¾ þ¨½ ¾ÅÈ¡ÉÐ? 

a) †¡÷¦Àô - ¸÷¿¡¼¸¡Å¢ÖûÇ þÕõÒ ¾¡Ð ÍÃí¸õ 

b) ÌõÄ¡ - ƒ¡÷¸ñÊø ´Õ À¡ì¨ºð ÍÃí¸õ 

c) À¡ø§¸¡ - ºò¾£Š¸÷ 

d) Å¢ƒ¢ýƒõ - ¸÷¿¡¼¸õ 
 
 

57) Chief Minister J Jayalalithaa unveiled, a historic 
document that aims to take Tamil Nadu on a high 
growth trajectory with a massive investment of Rs.15 
lakh crore. This document titled, 

a)Vision 2012  b)Vision 2013 c)Vision 2014 d)Vision 2015 

58) Which among the following is correct 
a) Temples were built in sangam period 
b) Caste system, untouchability were practiced in 

sangam period 
c) Nadukal worship were practiced in sangam period 
d) All of the above 
¸£úì¸ñ¼ ÜüÚ¸Ç¢ø º¡¢Â¡ÉÐ ±Ð? 
a) ºí¸ ¸¡Äò¾¢ø ¾¢Õì§¸¡Å¢ø¸û ¸ðÎõ Ó¨È 

þÕó¾Ð. 
b) ºí¸ ¸¡Äò¾¢ø º¡¾¢ Ó¨ÈÔõ ¾£ñ¼¡¨ÁÔõ 

À¢ýÀüÈôÀð¼É. 
c) ºí¸¸¡Ä Áì¸û ¿Î¸ø ÅÆ¢À¡ðÊø ®ÎÀð¼É÷. 
d) §ÁüÜÈ¢Â «¨ÉòÐõ. 

59) World’s knowledge revolution age in 
a) 6

th
 century A.D  b) 17

th
 century A.D 

c) 6
th
 century B.C  d) 17

th
 century B.C 

LÄ¸¢ý º¢ó¾¨Éô ÒÃðº¢ì ¸¡Äõ 
a) ¸¢.À¢ 6õ áüÈ¡ñÎ b) ¸¢.À¢ 17õ áüÈ¡ñÎ 
c) ¸¢.Ó 6õ áüÈ¡ñÎ d) ¸¢.Ó 17õ áüÈ¡ñÎ 

60) Who was called as ‘singha vikraman’ 
a) Chandra gupta maurya b) Chandragupta I 
c) Samudragupta  d) Chandra gupta-II 
º¢í¸ Å¢ì¸¢ÃÁý ±Éô Ò¸Æô¦ÀüÈ «Ãºý 
a) ºó¾¢ÃÌô¾ ¦Áª¡¢Â÷ b) ºó¾¢ÃÌô¾÷ 
c) ºÓò¾¢ÃÌô¾÷  d) ºó¾¢ÃÌô¾÷ 

61) Match the following: 
A. Pattika   1. Weight of gold 
B. Mayilai   2. Merchant group 
C. Mani Grama   3. Mesurement of land 
D. Kazhanju  4. Port city 
¦À¡ÕòÐ¸: 
A. ÀðÊ¸¡   1. ¾í¸ò¾¢ý ±¨¼ 
B. ÁÂ¢¨Ä   2. Å½¢¸÷ ºí¸õ 
C. Á½¢¸¢Ã¡Áõ  3. ¿¢Äò¾¢ý «Ç× 
D. ¸ÆïÍ   4. Ð¨ÈÓ¸ ¿¸Ãõ 
Codes: 
a) A-4, B-1, C-2, D-3 b) A-3, B-4, C-2, D-1 
c) A-4, B-1, C-3, D-2 d) A-3, B-4, C-1, D-2 

62) Which committee has recommended the establishment 
of National co-operative Bank of India? / இ
திய ேதசிய 
n.�றl வAகிைய  ெதாடAக சிபா�o ெசYத கமி.; 

a) Narasimhan Committee / நரசி3ம� கமி.; 

b) A.M.Khusro Committee / ஏ.எ3.?1ேரா கமி.; 

c) Indian Co-operative Committee / இ
திய n.�றl 
கமி.; 

d) Rangarajan Committee / ெரAகராஜ� கமி.; 

63) Project ‘ Sankalp’ is associated with the elimination of / 
‘சAக��’ தி.ட3 எைத ஒழி�பதBகாக 
அறி^க�ப� த�ப.ட�? 
a)  Illiteracy / க�வியறிவி�ைம 
b)  Polio / ேபாலிேயா 
c)  Unemployment / ேவைலவாY�பி�ைம 
d)  AIDS / HIV / எY.1 / எ@.ஐ.வி 
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64) Who is the final approver of five year plans in India? / 
þó¾¢Â¡Å¢ø ³ó¾¡ñÎ ¾¢ð¼ò¾¢üÌ ¸¨¼º¢Â¡¸ 
´ôÒ¾ø ÅØíÌÅÐ 

a) Planning commission / ¾¢ð¼ÌØ 
b) National Development Council / §¾º¢Â ÅÇ÷îº¢ ÌØ 

c) Cabinet / §¸À¢Éð 
d) Prime minister / À¢Ã¾Á Áó¾¢¡¢ 

65) ¦À¡ÕòÐ¸: 
A) ¾¢Õ»¡ÉºõÀó¾÷ 1) ¾¡º Á¡÷ì¸õ 
B) ¾¢Õ¿¡×ì¸Ãº÷  2) ºüÒò¾¢Ã Á¡÷ì¸õ 
C) Íó¾Ã÷   3) º¸ Á¡÷ì¸õ 
D) Á¡½¢ì¸Å¡º¸÷  4) ºýÁ¡÷ì¸õ 
a) A-2, B-1, C-3, D-4 b) A-2, B-4, C-1, D-3 
c) A-1, B-2, C-3, D-4 d) A-4, B-1, C-2, D-3 

66) A and B together can do a piece of work in 6 days. A 
alone can do it in 10 days. In how many days can B do 
it alone? / A, B þÕÅÕõ §º÷óÐ ´Õ §Å¨Ä¨Â 6 
¿¡ð¸Ç¢ø ÓÊôÀ÷. A ÁðÎõ «§¾ §Å¨Ä¨Â 10 
¿¡ð¸Ç¢ø ÓÊôÀ÷ ±É¢ø B ÁðÎõ «§¾ §Å¨Ä¨Â 
±ò¾¨É ¿¡ð¸Ç¢ø ÓÊôÀ÷? 

a) 12 b) 14   c) 15  d) 18 

67) Indian Board for Wildlife (IBWL) was constituted in / 
இ
திய வன உயி� வா�ய3 அைம"க�ப.ட ஆ=� 

a) 1952 b) 1955  c) 1958  d) 1962 

68) Diphtheria is caused by / ெதா=ைட அைட�Z ேநாைய 
உ=டா"?வ� 

a) Corynebacterium / கா�னிேப"r�ய3 

b) Haemophilus / ஹ�ேமாபிள1 

c) Shigella / ஷிெக�லா 

d) Streptococcus / 1.ெர�ேடாகா"க1 

69) ‘ �ெய3பாவ  �பாவ’ விழா ெகா=டா�ப�3 ¿¡Î 

a) மேலசியா   b) இ
ேதாேனசியா 

c) சிAக�u�   d) தாYலா
� 

70) The time of flight of a projectile (tf) thrown at an angle θ 

is /§¸¡½ò¾¢ø ±È¢ÂôÀÎõ ´Õ ±È¢ ¦À¡Õû ¦Á¡ò¾õ 
±ÎòÐì ¦¸¡ûÙõ §¿Ãõ 

a) u
2 
/ 2g  b) 2u sin θ / g  

c) u
2
 sin 2θ / g d) u

2
 sin

2
θ / 2g 

71) Galvanometer can be converted into a voltmeter by 
using 
a) a low resistance in series 
b) a high resistance in series 
c) a low resistance in parallel 
d) a high resistance in parallel 
´Õ ¸¡øÅÉ¡ Á£ð¼¨Ã µøð Á£ð¼Ã¡¸ Á¡üÚÅ¾üÌ 

a) ´Õ Ì¨Èó¾ Á¢ý¾¨¼¨Â ¦¾¡¼÷ þ¨½ôÀ¢ø 
þ¨½ì¸ §ÅñÎõ 

b) ´Õ LÂ÷ Á¢ý¾¨¼¨Â ¦¾¡¼÷ þ¨½ôÀ¢ø 
þ¨½ì¸ §ÅñÎõ 

c) ´Õ Ì¨Èó¾ Á¢ý¾¨¼¨Â Àì¸ þ¨½ôÀ¢ø 
þ¨½ì¸ §ÅñÎõ 

d) ´Õ LÂ÷ Á¢ý¾¨¼¨Â Àì¸ þ¨½ôÀ¢ø 
þ¨½ì¸ §ÅñÎõ 

72) Kamla Persad Bissessar, who visited India in January 
2012 is a PM of 
a) Mali  b) Trinidad and Tobago 
c) Kenya  d) Singapore 
சனவ� 2012 � இ
தியாவிB? விசய3 ெசYத க3லா 
ெப�சா  பிேசஷ� எ
நா.;� பிரதம�? 
a) மாலி  b) ;�னிடா. மB[3 ெடாபாேகா 

c) ெக�யா  d) சிAக�u� 

73) Terylene is 
a) polyamide  b) polyester 
c) polyether   d) polyurthane 
¦¼¡¢Ä¢ý ±ýÀÐ 
a) À¡Ä¢ «¨ÁÎ  b) À¡Ä¢¦ÂŠ¼÷ 
c) À¡Ä¢ ®¾÷  d) À¡Ä¢Â¡¢§¾ý 

74) Assertion (A): Diamond is a good conductor of 
electricity. 
Reason (R): Diamond and Graphite are two allotropes 
of carbon and graphite is a good conductor of 
electricity. 

 உ[தி (A): ைவர3 ஒ+ சிற
த மி� கட தி 
காரண3 (R): ைவர^3 கிராஃைப.�3 கா�பனி� 
ZறேவB[ைம� ப;வAக�. கிராஃைப. ஒ+ சிற
த மி� 
கட தி 
a) Both (A) and (R) are true and R is the correct 

explanation of (A) / (A) மB[3 (R) ச�. (R) எ�ப� (A) 

விB? ச�யான விள"க3 

b) Both (A) and (R) are true but (R) is not the correct 
explanation of (A) / (A) மB[3 (R) ச�. ஆனா� (R) 

எ�ப� (A) விB? ச�யான விள"க3 அ�ல 

c) (A) is true but (R) is false / (A) ச�. ஆனா� (R) தவ[ 

d) (A) is false but (R) is true / (A) தவ[. ஆனா� (R) ச�. 

75) Which one among the following is called ‘philosopher’s 
wool’? 
a) Zinc bromide         b) Zinc nitrate 
c) Zinc oxide         d) Zinc chloride 
கீ,"க=டவBறி� எ� “த �வ ஞானிகளி� க3பளி” எ�[ 
அைழ"க�ப�கிற�? 
a) � தநாக Zேராைம�   b) � தநாக ைந.ேர.� 

c) � தநாக ஆ"ைஸ�   d) � தநாக ?ேளாைர� 

76) If ax = by, then: 

a) log 
y

x

b

a
=   b) 

y

x

b

a
=

log

log

  

c) 
x

y

b

a
=

log

log
 d) None 

77) Author of “Tirunelveli Sarithiram” /“தி+ெந�ேவலி 
ச� திர3” எ�ற wலி� ஆசி�ய� 
a) G.U.Pope/ ஜி.x.ேபா� b) Caldwell/ கா��ெவ� 

c) Robert de nobili/ராப�. ; ெநாபிலி  
d) Seegan Balg/ சீக� பா�? 

78) Who was awarded the Ashoka Chakra Award on 63
rd

 
Republic day? 
a) Navdeep Singh  b) Laishram Jyotin Singh 
c) Rajesh Kumar  d) Mohit Sharma 
63 வ� ?;யரo தின நாளி� யா+"? அேசாக ச"ரா 
வி+� வழAக�ப.ட�? 
a) நyத�� சிA  b) ைலgரா3 ேஜாதி சிA 
c) ராேஜg?மா�  d) ேமாஹி ச�மா 

79) Which of the following is correct? 
a) Neurons are the structural function of kidney 
b) Henle’s loop is located inside of Bowman’s capsule 
c) Glomerulus is located inside of Bowman’s capsule 
d) Kidney filters the flood an form the urine 
¸£úì¸ñ¼ Å¡ì¸¢Âí¸Ç¢ø ±Ð º¡¢Â¡ÉÐ? 

a) º¢Ú¿£Ã¸ò¾¢ý «ÊôÀ¨¼ «ÄÌ ¿¢ÔÃ¡ý¸û ¬Ìõ. 
b) ¦ÀªÁ¡É¢Âý ¸¢ñ½ò¾¢ø ¦†ý§ÄÂ¢ý 

Å¨Ç× LûÇÐ. 
c) ¦ÀªÁ¡É¢Âý ¸¢ñ½ò¾¢ø Ì§Ç¡ÁÕÄŠ 

LûÇÐ 

d) º¢Ú¿£Ã¸õ þÃò¾ò¨¾ À¢¡¢ì¸¢ÈÐ, º¢Ú¿£¨Ã 
LÕÅ¡ìÌ¸¢ÈÐ. 
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80) Calvin cycle also known as 
a) light reaction  b) dark reaction 
c) Glycolysis  d) Krebs cycle 
¸¡øÅ¢ý ÍÆüº¢Â¢ý ÁÚ¦ÀÂ÷ 
a) ´Ç¢Å¢¨É  b) þÕûÅ¢¨É 
c) ¸¢¨Ç§¸¡¨Äº¢Š d) ¸¢Ãô ÍÆüº¢ 

81) Which of the following is incorrect statement? 
a) Liver is the largest gland in our body 
b) Pancrease is called dual gland 
c) Emylase changes starch into maltose 
d) Villi absorbs all materials form large intestine 
¸£úì¸ñ¼ Å¡ì¸¢Âí¸Ç¢ø ±Ð ¾ÅÈ¡ÉÐ? 

a) ¿ÁÐ L¼Ä¢ý Á¢¸ô¦À¡¢Â ÍÃôÀ¢ ¸øÄ£Ãø ¬Ìõ. 
b) ¸¨½Âõ þÃð¨¼ ÍÃôÀ¢ ±ýÚ 

«¨Æì¸ôÀÎ¸¢ÈÐ. 
c) «Á¢§ÄŠ Š¼¡÷î¨º Á¡ø§¼¡º¡¸ Á¡üÚ¸¢ÈÐ. 
d) ¦ÀÕ Ì¼Ä¢ø LûÇ Ì¼ø LÈ¢ïÍ¸û L½× 

¦À¡Õð¸¨Ç LÈ¢ïÍ¸¢ÈÐ 

82) AIDS virus is a 
a) RNA virus  b) DNA virus 
c) RNA & DNA virus  d) None of these 
±öðŠ ¨ÅÃŠ ´Õ 

a) RNA ¨ÅÃŠ  b) DNA ¨ÅÃŠ 

c) RNA & DNA ¨ÅÃŠ d) þÅüÚû ±Ð×Á¢ø¨Ä 

83) Which of the following is involved in respiratory reaction 
in our cell? 
a) Ribosomes  b) lysosomes 
c) thylakoids  d) oxysomes 
¸£úì¸ñ¼ ±Ð ¿ÁÐ ¦ºøÄ¢ø ÍÅ¡º¢ò¾Ä¢ø ÀíÌ 
¦ÀÚ¸¢ÈÐ? 

a) ¨Ã§À¡§º¡õ¸û  b) ¨Ä§º¡§º¡õ¸û 

c) ¨¾Ä¸¡öÎ¸û  d) ¬ìº¢§º¡õ¸û 

84) Which of the following element is regulated blood 
pressure in our blood? 
a) potassium  b) calcium 
c) iron   d) vitamin B4 

¸£úì¸ñ¼ ±ó¾ ¾É¢Áõ ¿ÁÐ þÃò¾ «Øò¾ò¨¾ 
ÀÃ¡Á¡¢ì¸¢ÈÐ? 
a) ¦À¡ð¼¡º¢Âõ  b) ¸¡øº¢Âõ B4 

c) þÕõÒ   d) ¨Åð¼Á¢ý 

85) The female literacy rate of Tamil Nadu (Based on 2011 
Census) is 
தமி,நா.;� ெப=க� எe தறிl சதவ �த3 (2011 
ம"க� ெதாைக கண"?�ப;) 
a) 72.48%     b) 73.86%     c) 71.46%    d) 70.26%                                

86) William Sleeman is associated with 
a) Abolition of Thags.  
b) Suppression of Sanyasi Bandits 
c) Minutes on Education 
d) Ilbert Bill 
¸£úì¸ñ¼ÅüÚû ±¾Û¼ý Å¢øÄ¢Âõ º¢Ä£Áý 
ºõÀó¾ôÀð¼Å÷? 
a) ¾ì¸÷¸û ´Æ¢ôÒ 
b) À¢ñ¼¡¡¢¸¨Ç ´ÎìÌ¾ø 
c) ¸øÅ¢ ÀüÈ¢Â ÌÈ¢ôÒ¸û 
d) þøÀ÷ð Á§º¡¾¡ 

87) Which of the following is incorrect? 
¸£úì¸ñ¼ÅüÚû ±Ð ¾ÅÚ? 

a) sin
2
θ=1 - cos

2
θ   b) 1+tan

2
θ=sec

2
θ  

c) 1+cot
2
θ=cosec

2
θ  d) sin θ .sec θ=1 

 
 

88) Which of the following statement is incorrect? 
a) Right auricle and right ventricle is guarded by 

tricuspid value 
b) Left auricle and left ventricle is guarded by bicuspid 

value 
c) Right ventricle and pulmonary artery is guarded by 

mitral value 
d) Right ventricles and pulmonary artery is guarded by 

semi lunar valves. 
¸£úì¸ñ¼ÅüÚû ±Ð ¾ÅÈ¡É Å¡ì¸¢Âõ? 

a) ÅÄÐ ¬¡¢ì¸¢û, ÅÄÐ ¦ÅñÊ¡¢ì¸¢û¸ÙìÌ 
þ¨¼§Â «¨Áó¾ À¡Ð¸¡ôÒ Å¡ø× ãÅ¢¾ú 
Å¡ø× ±ýÚ «¨Æì¸ôÀÎ¸¢ÈÐ. 

b) þ¼Ð ¬¡¢ì¸¢û, þ¼Ð ¦ÅñÊ¡¢ì¸¢û¸ÙìÌ 
þ¨¼§Â «¨Áó¾ À¡Ð¸¡ôÒ Å¡ø× ®¡¢¾ú Å¡ø× 
±ýÚ «¨Æì¸ôÀÎ¸¢ÈÐ. 

c) ÅÄÐ ¦ÅñÊ¡¢ì¸¢û, Ñ¨ÃÂ£Ãø ¾ÁÉ¢ìÌ 
þ¨¼§Â «¨Áó¾ À¡Ð¸¡ôÒ Å¡ø× Á¢ðÃø 
Å¡ø× ±ýÚ «¨Æì¸ôÀÎ¸¢ÈÐ. 

d) ÅÄÐ ¦ÅñÊ¡¢ì¸¢û, Ñ¨ÃÂ£Ãø ¾ÁÉ¢ìÌ 
þ¨¼§Â «¨Áó¾ À¡Ð¸¡ôÒ Å¡ø× «¨Ãî 
ºó¾¢Ãý Å¡ø× ±ýÚ «¨Æì¸ôÀÎ¸¢ÈÐ. 

89) What should be added to x
2
+16x to covert it to a perfect 

square./ x2
+16x ±ýÈ §¸¡¨Å¨Â ´Õ ÓØ Å÷ì¸Á¡¸ 

Á¡üÈ Üð¼ §ÅñÊÂ LÚôÒ -- 
a) 36 b) 49  c) 64  d) 256 

90) Arrange the following dynasties 
a) Mauryar, Haryanka, Nandas, Sisungas. 
b) Haryanka, Mauryar, Sisungas, Nandas. 
c) Haryanka, Nandas, Mauryar, Sisungas. 
d) Haryanka, Sisungas, Nandas, Mauryar. 
Åõºí¸¨Ç º¡¢Â¡É ¸¡Ä Å¡¢¨ºôÀÎòÐ¸. 
a) ¦Áª¡¢Â÷, †¡¢Âí¸¡, ¿ó¾÷, º¢Í¿¡¸÷ 
b) †¡¢Âí¸¡, ¦Áª¡¢Â÷, º¢Í¿¡¸÷, ¿ó¾÷ 
c) †¡¢Âí¸¡, ¿ó¾÷, ¦Áª¡¢Â÷, º¢Í¿¡¸÷ 
d) †¡¢Âí¸¡, º¢Í¿¡¸÷, ¿ó¾÷, ¦Áª¡¢Â÷ 

91) ¾£ý þÄ¡†¢ Á¾ò¨¾ ²üÚì¦¸¡ñ¼ ´§Ã þóÐ Â¡÷? 
a) Ã¡ƒ¡ À£÷À¡ø  b) þÃ¡ƒ¡ §¾¡¼÷Á¡ø 
c) þÃ¡ƒ¡ Á¡ýº¢í  d) þÃ¡ƒ¡ À¸Å¡ý¾¡Š 
who was the only Hindu who accepted Din-i-Ilahi? 
a) Raja Birbal  b) Raja thodarmal 
c) Raja Man Singh  d) Raja Bhagavan Dass 

92) Less than ogive and greater than ogive curves meet at 
a)mode b)mean    c)median     d)standard deviation 
Ì¨È ¿¢¸ú¦Åñ Å¨Ç×õ, ÅÇ÷ ¿¢¸ú¦Åñ 
Å¨Ç×õ ºó¾¢ìÌõ þ¼õ 
a)Ó¸Î b)ºÃ¡º¡¢   c)þ¨¼¿¢¨Ä   d)¾¢ð¼Å¢Äì¸õ 

93) ÀøÄÅ ¾ÇÀ¾¢Â¡¸ þÕóÐ, À¢ýÉ÷ ¨ºÅ ºÁÂ 
ÌÃÅÃ¡¸ Á¡È¢ÂÅ÷ Â¡÷? 
a) «ôÀ÷   b) Á¡½¢ì¸Å¡º¸÷ 
c) º¢Ú¦¾¡ñ¼÷  d) Íó¾Ã÷ 
Who was the Pallava Commander-in-Chief, later on 
became a Saiva saint? 
a)Appar   b) Manickavasagar 
c) Sirutondar  d) Sundarar 

94) ô¡¢¾¢Å¢Ã¡ˆ Ã§º¡¨Å ±Ø¾¢ÂÅ÷ 
a) ¬ºí¸÷   b) ¾¢ìÉ¡¸÷ 
c) ºóòÀ÷¾¡ö  d) º¢.Å¢.¨ÅòÂ¡ 
Prithviraj Raso was written by 
a) Asanga   b) Dignaga 
c) Chandbardai  d) C.V.Vaidya 
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95)  “Al Hilal” was a  newspaper started for propagating 
nationalism by / '«ø ¸¢Ä¡ø' ±ýÈ Àò¾¢¡¢ì¨¸¨Â 
¬ÃõÀ¢ò¾Å÷ 

a) Abul Kalam Azad    b) Mahatma Gandhi    
c) Mohammed Ali   d) Syed ahmed Khan 

96) As per the Act of 1909, the number of the members of the 
Legislative Council at the centre was increased from 
a) 20 to 80 b) 16 to 60 c) 30 to 90 d) 25 to 75 
¿ÎÅñ ºð¼Á¢ÂüÚõ ÁýÈ LÚôÀ¢É÷ ÌØÅ¢ý 
±ñ½¢ì¨¸ 1909¬õ ¬ñÎ ºð¼ôÀÊ........±ýÚ 
«¾¢¸¡¢ì¸ôÀð¼Ð. 
a) 20 Ä¢ÕóÐ 80 Å¨Ã b) 16 Ä¢ÕóÐ 60 Å¨Ã 
c) 30 Ä¢ÕóÐ 90 Å¨Ã d) 25 Ä¢ÕóÐ 75 Å¨Ã 

97) The only annual session of the Congress presided over by 
Gandhi was 
a) Kakinada, 1923  b) Belgaum 1924 
c) Kanpur 1925  d) Guwahati 1926 
¸¡ó¾¢ ¾¨Ä¨Á ¾¡í¸¢Â ´§Ã ¸¡í¸¢ÃŠ Á¡¿¡Î 
a) ¸¡ì¸¢¿¡¼¡, 1923  b) ¦Àø¸¡õ, 1924 
c) ¸¡ýâ÷, 1925  d) ¦¸ª¸¡ò¾¢, 1926 

98) VGA is 
a) Video Graphics Array 
b) Visual Graphics Array 
c) Video Graphics Adaptor 
d) Visual Graphics Adaptor 

99) ¦ÁðÃ¡Š ¸¢Ã¡Á Àïº¡ÂòÐ ºð¼õ ¦¸¡ñÎ 
ÅÃôÀð¼ ¬ñÎ /Madras Gram Panchayat Act was 

brought in  
      A) 1920      B) 1921            C) 1922      D) 192 

100) Á¾¢ôÒ¸Ç¢ý Å¡¢¨º þ¼ «ÊôÀ¨¼Â¢Ä¡É ºÃ¡º¡¢ 
The average based on the position of ordered observation 

is  

      a) Å£îÍ /Range     b) þ¨¼¿¢¨Ä /Median                   

      c) Ó¸Î /Mode    d) ¾¢ð¼ Å¢Äì¸õ/Standard Deviation 
 

GENERAL ENGLISH 
 

101) Match the following: 
Column A   Column B 
a) trivial   1) to do or be wrong 
b) err   2) unimportant 
c) apt   3) provide 
d) render   4) suitable 
codes: 
A) a-3, b-1, c-2, d-4  B) a-3, b-2, c-4, d-1 
C) a-2, b-1, c-4, d-3  D) a-2, b-3, c-4, d-1 

102) Match the following: 
Column A   Column B 
a) de facto   1) to cut short 
b) glitch   2) mal function 
c) truncate   3) friendly 
d) cordial   4) in reality 
codes: 
A) a-3, b-4, c-2, d-1  B) a-4, b-2, c-1, d-3 
C) a-1, b-2, c-3, d-4  D) a-3, b-1, c-2, d-4 

103) Match the following: 
Column A   Column B 
a) revamp   1) tribute 
b) homage   2) serious danger 
c) peril   3) renovate 
d) pursue   4) follow 
codes: 
A) a-3, b-1, c-2, d-4  B) a-2, b-4, c-3, d-1 
C) a-4, b-2, c-3, d-1  D) a-2, b-4, c-1, d-3 

104) Match the following: 
Column A   Column B 
a) turned down  1) postponed 
b) looked into  2) recovered 
c) got over   3) investigated 
d) put off   4) declined 
codes: 
A) a-4, b-3, c-2, d-1  B) a-3, b-1, c-2, d-4 
C) a-4, b-2, c-1, d-3  D) a-3, b-2, c-4, d-1 

105) Match the following 
Column A   Column B 
a) mend   1) enter by force 
b) invade   2) original 
c) novel   3) interfere 
d) intrude   4) to fix 
codes: 
A) a-2, b-4, c-1, d-3  B) a-4, b-1, c-2, d-3 
C) a-3, b-1, c-4, d-2  D) a-4, b-1, c-3, d-2 

106) Choose the correct ‘Synonym’ for the italicized 
word from the options given: 
He is a convict. 
a) leader b) criminal c) lawyer d) police 

107) Choose the correct ‘Synonym’ for the italicized 
word from the options given: 
The refugees in the camp were given filthy food. 
a) dirty b) simple c) tasty  d) rich 

108) Choose the correct ‘Synonym’ for the italicized 
word from the options given: 
He searched the coat pocket of the imposter. 
a) stranger b) cheater c) spy d) public 

109) Choose the correct ‘Synonym’ for the italicized 
word from the options given: 
He was confused on the recent bizarre happenings. 
a) weird  b) usual 
c) sudden  d) joyful 

110) Choose the correct ‘Synonym’ for the italicized 
word from the options given: 
The leader awed, seeing the crowd that has gathered.. 
a) worried b) surprised c) liked  d) cried 

111) Choose the correct ‘Antonym’ for the italicized word 
from the options given: 
Women’s marvelous powers are lying dormant. 
a) hidden b) open  c) active d) sleeping 

112) Choose the correct ‘Antonym’ for the italicized word 
from the options given: 
He looked sullen and suspicious. 
a) angry b) dark  c) grim  d) cheerful 

113) Choose the correct ‘Antonym’ for the italicized word 
from the options given: 
Ravi is a sturdy and dynamic young man. 
a) brawny b) powerful c) fragile d) strong 

114) Choose the correct ‘Antonym’ for the italicized word 
from the options given: 
All kinds of pleasant things began to happen. 
a) awful b) nice  c) pleasing d) lovely 

115) Choose the correct ‘Antonym’ for the italicized word 
from the options given: 
He groaned in agony. 
a) pain b) torture  c) distress d) ecstasy 

116) Select the word with the correct Prefix: 
a) illegible b) illtechno c) illmarine    d) illviolence 

117) Select the word with the correct Prefix: 
a) recash b) uncash c) encash d) decash 
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118) Select the word with the correct Suffix: 
a) miscourage b) mislead  c) mister d) mislike 

119) Select the word with the correct Suffix: 
a) readable  b) takeable 
c) openable  d) longable 

120) Select the word with the correct Suffix: 
a) heal b) soal  c) nominal d) seal 

121) Fill in the blanks with suitable article: 
Have you seen RRR one-rupee coin 
a) no article  b) the c) a  d) an 

122) Fill in the blanks with suitable article: 
He finished the workRR...hour ago. 
a) a  b) no article c) the  d) an 

123) Fill in the blanks with suitable article: 
There was RRR explosion in townhall yesterday. 
a) a  b) an  c) the             d) no article 

124) Fill in the blanks with suitable article: 
Ravi and Raja went toRRRChennai to meet their 
relatives. 
a) a  b) an  c) the             d) no article 

125) Fill in the blanks with suitable article: 
English is RRR. Language of England. 
a) a  b) the  c) no article d) an 

126) Fill in the blank with suitable preposition: 
Listen RR what the teacher says. 
a) on b) to  c) next  d) above 

127) Fill in the blank with suitable preposition: 
RRR. the man stood the child. 
a) in b) by  c) near  d) beside 

128) Fill in the blank with suitable preposition: 
The old library functionsRRR.the temple. 
a) over b) besides c) inside d) into 

129) Fill in the blank with suitable preposition: 
We were flying RRRR the clouds. 
a) among b) between c) above d) in 

130) Fill in the blank with suitable preposition: 
They walked RRR.. the beach for hours. 
a) among  b) at  c) over  d) along 

131) Select the correct question tag. 
There isn’t an ATM here RRRR. ? 
a) isn’t here   b) is there 
c) isn’t there  d) is here 

132) Select the correct question tag. 
Let’s have a cup of coffee, R..? 
a) couldn’t we b) may we   c) do we d) shall we  

133) Select the correct question tag. 
Cars pollute the environment,RR? 
a) can they b) will they c) don’t they          d) shall 
they 

134) Select the correct question tag. 
You are John, RRRR? 
a) do you   b) doesn’t he  
c) aren’t you  d) are you 

135) Select the correct question tag. 
The trip is very expensive,RR..? 
a) aren’t it b) is it  c) isn’t it d) amn’t I  

136) Select the correct tense: 
Haven’t RR. (see) John for a long time now. 
a) saw b) seeing c) seen   d) sawn 

137) Select the correct tense: 
If I RR.(be) a dog, I would teach loyalty to men. 
a) am b) were  c) is  d) was 
 

138) Select the correct tense: 
Nowadays more people RR.. (shop) on the internet. 
a) was shopping  b) were shopping 
c) used to shop  d) are shopping 

139) Select the correct tense: 
In recent days Rupee RR.. (fall) against the dollar 
considerably. 
a) is fallen b) has fallen c) has fell d) will fell 

140) Select the correct tense: 
When I arrived at the theatre, the movieRR 
a) had already started b) will be started 
c) started   d) start 

141) Select the correct voice: 
The babyRR..all morning. 
a) cries   b) is crying 
c) has been crying  d) cried 

142) Select the correct voice: 
I......here for months 
a)had been living b)lived  
c)has been living d)have been living 

143) Select the correct voice: 
WhereRRR.the stolen idolR..? 
a) was, hidden  b) were, hidden 
c) have been, hidden d) will, hide 

144) Select the correct voice: 
The pictureRR.by him. 
a) has drawn  b) had drawn 
c) draws   d) has been drawn 

145) Select the correct voice: The lettersRRR 
a) finishes  b) haven’t been finished 
c) finish  d) will finish 

146) Fill in the blank with suitable gerund: 
.....ill of others is a bad habit 
a)speak b) spoke   c) To speaking d)speaking 

147) Fill in the blank with suitable participle: 
I heard himRR.a song. 
a) sing b) is singing c) singing  d) sings 

148) Fill in the blank with suitable participle: 
....by hunger, she stole a piece of bread. 
a)Drive b)Driven c)Drives d)Driving 

149) Fill in the blank with suitable infinitive: 
Everybody wishesRRlife 
a) to enjoy   b) to be enjoyed 
c) to be enjoying  d) to have been enjoyed 

150) Fill in the blank with suitable infinitive: 
It is a penal offenceRRR.a public servant. 
a) to bribe   b) to be bribed 
c) to be bribing  d) is bribing 

151) Identify the sentence pattern of the following 
sentence: They elected him their chairman yesterday. 
a) SVOCA b) SVIODOA c) SVOAA d) SVCAA 

152) Identify the sentence pattern of the following 
sentence: 
My uncle gave me a camera 
a) SVIODO b) SVOCA c) SVO  d) SVCA 

153) Identify the sentence pattern of the following 
sentence: We find the sum difficult. 
a) SVO b) SVC  c) SVOC           d) SVIODO 

154) Identify the sentence pattern of the following 
sentence: I chose her my wife last month. 
a) SVIODO b) SVCAA c) SVOA d) SVOCA 
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155) Identify the sentence pattern of the following 
sentence: He sells apricots. 
a) SVOA b) SVOC c) SVA  d) SVO 

156) Change the following verb into noun: ‘Attend’ 
a) attendance  b) attended 
c) attending   d) attentive 

157) Change the following verb into noun: ‘Admire’ 
a) admiration  b) admirably 
c) admired   d) admirable 

158) Change the following noun into verb: ‘Emphasis’ 
a) emphatic   b) emphatically 
c) emphasize  d) emphases 

159) Change the following adjective into adverb: 
‘Sincere’ 
a) sincerely   b) sincerity 
c) sincereness  d) sincereful 

160) Change the following adjective into adverb: ‘Quick’ 
a) quickness  b) quickful 
c) quickly   d) quits 

161) Fill in the blanks with correct homophones: 
I forgot to RR. the cheese. 
a) great b) greet  c) grind  d) grate 

162) Fill in the blanks with correct homophones: 
I ate RR... for breakfast. 
a) cereal b) sereal c) serial  d) cireal 

163) Fill in the blanks with correct homophones: 
This wound would take time to RR.. 
a) heel b) heal  c) hill  d) heale 

164) Fill in the blanks with correct homophones: 
The little boy had shortRR. 
a) sight b) cite  c) site  d) suit 

165) Fill in the blanks with correct homophones: 
Our company did not R.. any new employees this year. 
a) hear b) heir c) higher d) hire 

166) Comprehension: There are two factors which go to 
make a nation. First a common memory of heroes, 
exploits, adventures and triumphs. Second, the will to 
unity. Thirdly a sense of common mission. 
The third factor to make a nation is a sense of common, 
a)rule b)memory c)objective d)none 

167) Comprehension: The world will not end, as some 
fear, because of particle accelerator. The idea that 
high-energy collisions could create an exotic form of 
matter that could grow to engulf the earth is without 
foundation says Jes Masden. 
The end of the world as mentioned in the above 
passage is,  
a) inevitable  b) uncertain  
c) important  d) sure 

168) Comprehension: The daily explosion of crime, 
violence and sex on the small screen reaches 
approximately one third of the country’s population. Ten 
years ago, there was only one channel, Doordarshan. 
Now there are more than 100 channels.  
Today TV is viewed as an instrument for projecting, 
a)crime b)social change   c) terrorism d)death 

169) Comprehension: Meg helped Jo clear away the 
remains of the feast which took half the afternoon, and 
left them so tired that they agreed to be contented with 
tea and toast for supper. 
Meg helped Jo in the 
a)kitchen b)hotel  c)part d)office 
 

170) Comprehension: 
The silver spots tell us where the cotton has been 
hidden and gold spots tell us where the wheat has been 
hidden 
Wheat spots are marked by 
a)gold b)silver  c)platinum d)diamond 

171) Select the correct sentence: 
a)He can’t do nothing b)He do nothing 
c)He can’t do anything d)He don’t do anything 

172) Select the correct sentence: 
a)He said to me to give him that envelope 
b)He asked me to give him that envelope 
c)He told me that give me that envelope 
d)He said to me that to give him that envelope 

173) Select the correct sentence with the right word 
order: 
a)The teacher asked Latha what is the capital of Bengal 
b)The teacher asked Latha to name the capital of 
Bengal 
c)The teacher questioned Latha of the capital of Bengal 
d)The teacher asked Latha which is he capital of 
Bengal 

174) Select the correct sentence: 
a)It is better to fail than pass by unfair means 
b)The boy told it was better to fail than pass to unfair 
c)The boy told whether it was better to fail than pass by 
unfair means 
d)The boy said it was better to fail than pass by unfair 
means 

175) Select the correct sentence: 
a)She resembles her mother 
b)I saw a lion which is 3 metres long 
c)The guests entered into the hall 
d)I gave the visitors a chair to sit 

176) Find out the error: 
He  does not  know  to swim   
 1      2            3       4 
a)1  b)2  c)3  d)4 

177) Find out the error: 
The leader   made    an universal appeal     to all 
 1     2  3  4 
a)1  b)2  c)3  d)4 

178) Find out the error: 
I    have    strong    headache 
1   2   3      4 
a)4  b)3  c)2  d)1 

179) Find out the error: 
Iam   going    to     a picnic 
  1       2    3   4 
a)2  b)1  c)3  d)4 

180) Find out the error: 
Divide      the money       among          the two of you 
    1      2  3  4 
a)2  b)1  c)3  d)4 

181) Find out the odd word (adverb): 
a) historically  b) history 
c) histrionic   d) historic 

182) Find out the odd word (adverb): 
a) slowly   b) slow 
c) slowed   d) slowness 

183) Find out the odd word (adverb): 
a) competent  b) competence 
c) competently  d) competitive 
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184) Find out the odd word (noun): 
a) period b) periodical c) periodic    d) periodically 

185) Find out the odd word (adjective): 
a) festival b) festivity c) festoon d) festive 

186) Select the plural form of ‘Man’ 
a) mans b) men  c) manes d) mens 

187) Select the plural form of ‘Metropolis’ 
a) metropolis  b) metropolises 
c) metropolisis  d) metropolisess 

188) Select the plural form of ‘Album’ 
a) albums b) album c) albumses d) albumia 

189) Select the plural form of ‘Larva’ 
a) larvas b) larves c) larvae d) larvaes 

190) Select the plural form of ‘Oasis’ 
a) oasis b) oases c) oaseses d) oasses 

191) Identify the simple sentence: 
a) Unless you practise well, you will not win 
b) Practise well and you will win 
c) Practise well or you will not win 
d) In the event of not practising well, you will not win 

192) Identify the complex sentence: 
a) He is poor yet he dresses neatly 
b) He is poor and he dresses neatly 
c) Though he is poor, he dresses neatly 
d) In spite of being poor, he dresses neatly 

193) Identify the compound sentence: 
a) This is the place where we meet 
b) This is the place and we meet here 
c) This is our meeting place 
d) This is the place we usually meet 

194) Which of the following endings is correct to form the 
correct complex sentence? 
The shirt is so tight that 
a) I do not wear  b) I cannot wear 
c) I may not wear  d) I could not wear 

195) Identify the sentence: 
On account of heavy rain the match was cancelled. 
a) compound  b) complex 
c) simple   d) none of these 

196) Identify the positive degree: 
a) Prevention is better than cure 
b) Rice is the most common food in South India 
c) English is not so difficult as many people think 
d) Kannan is the cleverest boy in the class 

197) Identify the positive degree: 
a)The pen is mightier than the sword 
b) I know him as well as you do 
c) Samudragupta was one of the greatest kings 
d) England has the largest fleet in the world 

198) Identify the comparative degree: 
a) It is the best book I have ever read 
b) Some other boys are not less kind than Murugan 
c) The Taj is one of the most beautiful buildings in the 
world 
d) Kumaran is not so tall as Balan 

199) Identify the superlative degree: 
a) Children are more innocent than adults 
b) No other books is so famous as Thirukkural 
c) ‘Twelfth Night’ is the most fascinating drama of 
Shakespeare 
d) Very few people are as industrious as Shakar 
 
 

200) Identify the correct degree: 
Priya is the oldest woman living in our village. 
a) Comparative degree b) Superlative degree 
c) Positive degree  d) None of these 
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